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Abstract  The secrets revelation continues. Short but Spicy. Get ready. The “Ultimate Physics Equation (UPE)” is the 
blueprint of the universe, the ultimate theory of the universe which represents the truth in physics. The Ultimate Physics 
Equation gave birth to the physical constant theory. The physical constant theory is justified by Pi. The importance of the 
physical constant theory is to solve the problem of inaccuracy in physics and to also showcase the power of the blueprint. 
Thus, the full list of the accurate values of the physical constants is officially presented to the world with its related theory to 
fulfill its purpose. 
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1. Introduction 
We all know that the physical constants are their 

definitions, this paper focuses on results. The UPE (Theory 
of Everything) is the blueprint of the universe and the key to 
read the blueprint is the physical constants which is the 
reason why the physical constants are used as entries in the 
UPE equations. Everyone wants to see a link or connection 
to all aspects to physics to be convinced that we really know 
our universe, the simple solution to this is the physical 
constants. The physical constants represents different 
components of the universe as well as the different aspects  
of physics. The fact is; someone, a physicist can tell us that 
“this” is “that” and “that is “this” in physics and maybe 
convince us through experiments/observations and we start 
adopting it as a theory in physics because experiments said 
so, but how can one prove the statement theoretically, it’s 
only by using the physical constants alongside the blueprint 
just like i displayed in [7], this description can’t be effective 
without the use of the exact values of the physical constants 
from the physical constant theory. 

“Read [7] before this paper” 

2. Physical Constants 
Continuation from [7]. In the last paper [7], there was an 

early revelation of the exact values of the physical constants 
but this paper is its proper unveiling. The tests for the exact 
values of the physical constants were also presented in [7]. 
Once again, the full list of the exact values of the physical 
constants as (Table 1). 
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Table 1 

UPE EXACT VALUES OF THE PHYSICAL CONSTANTS 

S/N CONSTANT VALUE UNIT 

1 Electric Constant 8.8888888889×10-12 F/m 

2 Electron Mass 8.8888888889×10-31 kg 

3 Down Quark Mass 8.8888888889×10-30 kg 

4 Bottom Quark Mass 8.8888888889×10-27 kg 

5 Gravitational 
Constant 6.6666666667×10-11 c/MeV 

6 Planck Constant 6.6666666667×10-16 eV.s 

7 Planck Constant 6.6666666667×10-34 J.s 

8 Planck Constant 6.6666666667×10-22 MeV.s 

9 Reduced Planck 
Constant 1.0666666667×10-34 J.s 

10 Strange Quark Mass 1.6666666667×10-28 kg 

11 Proton Mass 1.6666666667×10-27 kg 

12 Neutron Mass 1.6666666667×10-27 kg 

13 W Boson Mass 1.6666666667×10-25 kg 

14 Z Boson Mass 1.6666666667×10-25 kg 

15 Quantum/charge Ratio 4.1666666667×10-15 J/A 

16 Boltzmann constant 1.3333333333×10-23 J.K-1 

17 Magnetic flux 
quantum 2.0833333333×10-15 Wb 

18 Stefan Boltzmann 
constant 5.3333333333×10-8 W.m-2.K-4 

19 Electron Molar Mass 5.3333333333×10-7 kg.mol-1 

20 Universe field value 3.3333333333×10-9 c-1 

21 Up Quark Mass 3.3333333333×10-30 kg 

22 Top Quark Mass 3.3333333333×10-25 kg 

23 Tau Mass 3.3333333333×10-27 kg 

24 Muon Neutrino Mass 3.3333333333×10-31 kg 

25 Tau Neutrino Mass 3.3333333333×10-29 Kg 

26 Conversion Constant 1.7777777778×10-30 MeV/c2 
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27 Muon Mass 1.7777777778×10-28 kg 

28 Electron Neutrino 
Mass 1.7777777778×10-36 kg 

29 Charm Quark Mass 2.2222222222×10-27 kg 

30 Higgs Boson Mass 2.2222222222×10-25 kg 

31 Bohr Radius 5.5555555556×10-11 m 

32 Space-time parameter 1.5×1010 MeV/c 

33 2nd Radiation constant 0.015 m.K 

34 4 pi 12.5  

35 Magnetic Constant 12.5×10-7 H/m 

36 Wavelength of 1eV/c 
particle 1.25×10-6 m 

37 Charm Quark Mass 1250 MeV/c2 

38 Higgs Boson Mass 125000 MeV/c2 

39 Impedance of vacuum 375 ῼ 

40 Quantum of 
circulation 3.75×10-4 m2.s 

41 1st Radiation Constant 3.75×10-16 W.m2 

42 12 Pi 37.5  

43 Dark Energy Photon 
(default) 4.5×1018 MeV 

44 Energy Photon 
(default) 4.5×1016 MeV 

45 Strange Quark Mass 93.75 MeV/c2 

46 Proton Mass 937.5 MeV/c2 

47 Neutron Mass 937.5 MeV/c2 

48 W Boson Mass 93750 MeV/c2 

49 Z Boson Mass 93750 MeV/c2 

50 3 Pi 9.375  

51 Up Quark Mass 1.875 MeV/c2 

52 Top Quark Mass 187500 MeV/c2 

53 Tau Mass 1875 MeV/c2 

54 Muon Neutrino Mass 0.1875 MeV/c2 

55 Tau Neutrino Mass 18.75 MeV/c2 

56 6 Pi 18.75  

57 32 Pi 100  

58 Universe Value 100  

59 Muon Mass 100 MeV/c2 

60 Electron Neutrino 
Mass 1×10-6 MeV/c2 

61 16 Pi 50  

62 Dark Matter Mass 50 MeV/c2 

63 Electron Mass 0.5 MeV/c2 

64 Down Quark Mass 5 MeV/c2 

65 Bottom Quark Mass 5000 MeV/c2 

66 Faraday constant 96000 C.mol-1 

67 Proton Cyclotron 
Frequency 9.6 ×107 rads-1T-1 

68 Molar Planck constant 4×10-10 j.s/mol 

69 Compton Wavelength 4×10-13 m 

70 Avogadro constant 6×1023 mol-1 

71 Bohr Magneton 6×10-11 MeVT-1 

72 Speed of light 3×108 ms-1 

73 Coulomb Constant 9×109 N.m2/c2 

74 Fine Structure 
Constant 0.0072  

75 Elementary charge 1.6×10-19 C 

76 Nuclear Magneton 3.2×10-14 MeVT-1 

77 Pi 3.125  

78 Gas constant 8 J.K-1.mol-1 

79 Charge/Quantum ratio 2.4×1014 A/J 

80 Josephson constant 4.8×1014 Hz/V 

81 Electron Cyclotron 
Frequency 1.8×1011 rads-1T-1 

82 Electron Radius 2.88×10-15 M 

83 2 Pi 6.25  

84 8 Pi 25  

85 Rydberg constant 10368000 m-1 

“The Constants are arranged according to similarity” 

3. Physical Constant Theory 
The physical constant theory was created/discovered by 

Prince Jessii, this theory reveals the fact/law which states 
that all physical constants of the universe are related to one 
another, leading to similarity in value patterns and links. 
This law is justified by pi (3.125) as the universe assist value. 

This theory can only be proven by the existence of the 
exact values of the physical constants which can only be 
gotten using two methods. 

3.1. Methods 

There are two ways to get the physical constants of the 
universe; 

1.) Tracing through the space-time parameter 
2.) Using Pi codes 
The actual way to get the constants based on the law is by 

using pi codes. The tracing through the space-time parameter 
method which I revealed in [7] is a secondary way which 
uses the help of the experimental (inaccurate) values from 
CODATA. To explain better, using the method of tracing 
from the space-time parameter acknowledges the values 
from CODATA and the scientists behind them. Why? 
Because without the experimental values, we wouldn’t even 
know what the first digit of any physical constant is. Hence, 
the experimental values from CODATA helps in the tracing 
method. 

3.2. Tracing through the Space-Time Parameter 

This method is done using UPE resulting formulas and 
formulas related to the involved physical constants. 

It starts with the unification which resulted in the default 
values of energy, matter, dark energy, and dark matter. All 
originated from the space-time parameter, so we can just 
continue looking for more through tracing. 
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Bringing back the unification description table from [5]; 

Table 2 

Superior Dimension Inferior Dimension 

1.) The Superior Light(Ed) = S × c 
= [1.50 × 1010 × (3 × 108)] 
Ed = 4.5 × 1018 

(D ark Energy) 

The Inferior Light(E) = S × c/100 
=[1.50 × 1010 × (3 × 108)]/100 E 
= 4.5 × 1016 
(Energy) 

2.) The Solidified form of the 
Superior Light 
Md(50) = S/c = 1.50 × 1010/3 × 
108 
(Dark Matter) 

The Solidified form of Inferior 
Light 
M = S/[c × 100]= 0.5 
(Matter) 

3.) Absorption of the superior 
light by its solidified form 
Md × Ed = 50 × (4.5 × 1018) = 
2.25 × 1020 (Light Mode S) 

The tendency of the solidified 
form of the superior light to 
absorb the inferior light. 
Md × E =(50) × (4.5 × 1016) 
= 2.25× 1018 

4.) The tendency of the solidified 
form of the inferior light to absorb 
the superior light. e × Ed = (1.60 
× 10-19) × (4.5 × 1018) = 0.72 

Absorption of inferior light by its 
solidified form e × E = (1.60 × 
10-19) × (4.5 × 1016) = 0.0072 
(Light Mode P) 

The above (Table 2) is a guide for this method. I 
discovered and presented the space-time parameter back in 
2019. This space-time parameter (1.50 x 1010) alongside the 
speed of light as (3 x 108) resulted to unification in physics 
leading to the default values for energy (4.5 x 1016), matter 
(0.5), dark energy (4.5 x 1018) and dark matter (50). These 
values are their accurate values. 

Rule: Once the resulting values of the physical constants 
gotten from tracing is combined to give any of the above 
default values, then the values of the physical constant(s) 
involved in the combination is/are accurate. 

From table 2, the fine structure constant as (0.0072) with 
elementary charge as (1.60 x 10-19) gives the exact value for 
default energy, this means that both values are also accurate. 

With these, the tracing can begin (Table 3). 

Table 3 

TRACING METHOD – PHASE ONE 

ELECTRIC CONSTANT 

Convert the default matter – electron (0.5) to kg 
𝑒𝑒𝑒𝑒 = 1.6 × 10−19 

𝑀𝑀𝑀𝑀𝑀𝑀 = (1.6 × 10−19) × 1000000 =  1.6 × 10−13 
𝑀𝑀𝑀𝑀𝑀𝑀
𝑐𝑐2 =

(1.6 × 10−13)
(3 × 108)2 = 1.7777777778 × 10−30 

0.5 × 1.7777777778 × 10−30 = 8.8888888889 × 10−31 

Electric constant (εo): The first two digits of the electric constant is 8 
and 8, therefore we first 

assume the electric constant is = 8.8888888889 × 10−12  

MAGNETIC CONSTANT 
Use 𝜇𝜇0 ∙ 𝜀𝜀0 ∙ 𝑐𝑐2 = 1 to test and get the magnetic constant. 

The formula becomes; 
1

[(8.888888889 × 10−12) × (3 × 108)2]
= 12.5 × 10−7 

(8.888888889 × 10−12) × (12.5 × 10−7) × (3 × 108)2 = 1. 

𝑆𝑆
[𝜇𝜇0 ∙ 𝜀𝜀0 ∙ 𝑐𝑐]

= 𝐸𝐸𝑑𝑑  

(1.50 × 1010)
[(12.5 × 10−7) × (8.888888889 × 10−12) × (3 × 108)]

= 4.5 × 1018 
𝐸𝐸 × 𝜇𝜇𝑜𝑜 × 𝜀𝜀𝑜𝑜 = 𝑚𝑚𝑒𝑒  

(4.5 × 1016) × (12.5 × 10−7) × (8.888888889 × 10−12) = 0.5 

The electric constant and magnetic constant are clear. Remember, once 
you test the fundamental constants and it result to the any of the default 

values (energy, matter, dark energy, dark matter) then it’s clear. 

Pi 

Pi can be gotten from the formula; 
𝜇𝜇0

4𝜋𝜋 × 10−7 = 1 

(12.5 × 10−7)
10−7 = 12.5 

12.5
4

= 3.125 

It’s substitution, pi is clear for now, it can also be confirmed again. 

GRAVITATIONAL CONSTANT 
1

[𝑆𝑆]
= 𝐺𝐺 

1
1.5 × 1010 = 6.6666666667 × 10−11 

𝑆𝑆
𝑀𝑀𝑑𝑑 × 𝐺𝐺

= 𝐸𝐸𝑑𝑑  

1.50 × 1010

50 × (6.6666666667 × 10−11)
=  4.5 × 1018 

The gravitational constant can be gotten directly from the default 
values, it’s very much clear 

PLANCK CONSTANT 

The first two digits of the planck constant is 6 and 6, therefore we can 
assume the planck constant is = 6.6666666667 × 10−34  

𝜇𝜇0𝑐𝑐𝑒𝑒2

2ℎ
= 𝛼𝛼 

(12.5 × 10−7) × (3 × 108) × (1.6 × 10−19)2

2 × (6.6666666667 × 10−34) = 0.0072 

This means, planck constant in eV.s will be = 6.6666666667 ×
10−16 

COULOMB CONSTANT 
1

4𝜋𝜋𝜀𝜀0
=

1
4 × (3.125) × (8.888888889 × 10−12)

= 9000000000 

𝑘𝑘
ℎ𝑐𝑐

=
(9 × 109)

(6.6666666667 × 10−16) × (3 × 108) = 4.5 × 1016  

Pi, coulomb constant, and the planck constant are all clear 

TRACING METHOD – PHASE TWO 

Phase one is about the fundamental constants, the accurate values of 
other physical constants can be gotten from using the accurate values 

of the fundamental constants. 

WAVELENGTH OF 1eV PARTICLE 

ℎ𝑐𝑐
1𝑒𝑒𝑒𝑒

=
(6.6666666667 × 10−34) × (3 × 108)

(1.6 × 10−19)
= 1.25 × 10−6𝑚𝑚 

RYDBERG CONSTANT 

𝑅𝑅∞ =
𝑐𝑐𝛼𝛼2𝑚𝑚𝑒𝑒

2ℎ
 

(3 × 108) × 0.00722 × (8.8888888889 × 10−31)
2 × (6.6666666667 × 10−34)

= 10368000𝑚𝑚−1 

QUANTUM CIRCULATION 
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ℎ
2𝑚𝑚𝑒𝑒

=
(6.6666666667 × 10−34)

2 × (8.8888888889 × 10−31)
= 3.75 × 10−4 𝑚𝑚2. 𝑠𝑠 

1ST RADIATION CONSTANT 
2𝜋𝜋ℎ𝑐𝑐2 

2 × (3.125) × (6.6666666667 × 10−34) × (3 × 108)2

= 3.75 × 10−16 𝑊𝑊.𝑚𝑚2 

IMPEDANCE OF VACUUM 

�
𝜇𝜇0

𝜀𝜀0
 

�
(12.5 × 10−7)

(8.888888889 × 10−12)
= 375 Ω 

CHARGE/QUANTUM RATIO 
𝑒𝑒
ℎ

 

(1.6 × 10−19)
(6.6666666667 × 10−34)

= 2.4 × 1014𝐴𝐴/𝐽𝐽 

JOSEPHSON CONSTANT 
2𝑒𝑒
ℎ

 

2 × (1.6 × 10−19)
(6.6666666667 × 10−34)

= 4.8 × 1014𝐻𝐻𝐻𝐻/𝑉𝑉 

MAGNETIC FLUX QUANTUM 
ℎ

2𝑒𝑒
 

(6.6666666667 × 10−34)
2 × (1.6 × 10−19)

= 2.0833333333 × 10−15𝑊𝑊𝑊𝑊 

QUANTUM/CHARGE RATIO 
ℎ
𝑒𝑒

 

(6.6666666667 × 10−34)
(1.6 × 10−19)

= 4.1666666667 × 10−15𝐽𝐽/𝐴𝐴 

ELECTRON RADIUS 

𝑟𝑟𝑒𝑒 =
𝑘𝑘𝑒𝑒2

𝑚𝑚𝑒𝑒𝑐𝑐2 =
(9 × 109) × (1.6 × 10−19)2

(8.8888888889 × 10−31) × (3 × 108)2

= 2.88 × 10−15𝑚𝑚 

COMPTON WAVELENGTH 

⋏𝑒𝑒=
ℏ
𝑚𝑚𝑒𝑒𝑐𝑐

=
(1.0666666667 × 10−34)

(8.8888888889 × 10−31) × (3 × 108)
= 4 × 10−13𝑚𝑚 

⋏𝑒𝑒= 𝑟𝑟𝑒𝑒𝛼𝛼−1 = 2.88 × 10−15 × 0.0072−1 = 4 × 10−13𝑚𝑚 

BOHR RADIUS 

𝑎𝑎∞ =
ℏ2

𝑘𝑘𝑚𝑚𝑒𝑒𝑒𝑒2

=
(1.0666666667 × 10−34)2

(9 × 109) × (8.8888888889 × 10−31) × (1.6 × 10−19)2 

= 5.5555555556 × 10−11𝑚𝑚 
𝑎𝑎∞ = 𝑟𝑟𝑒𝑒𝛼𝛼−2 = (2.88 × 10−15) × 0.0072−2

= 5.5555555556 × 10−11𝑚𝑚 

𝑎𝑎∞ =
𝛼𝛼

4𝜋𝜋𝑅𝑅∞
=

0.0072
4 × (3.125) × (10368000)

= 5.5555555556 × 10−11𝑚𝑚 

ELECTRON CYCLOTRON FREQUENCY 

𝑤𝑤𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐
𝑒𝑒 /𝐵𝐵 =

𝑒𝑒
𝑚𝑚𝑒𝑒

=
(1.6 × 10−19)

(8.8888888889 × 10−31)
= 1.8 × 1011𝑟𝑟𝑟𝑟𝑟𝑟 𝑠𝑠−1 𝑇𝑇−1 

PROTON CYCLOTRON FREQUENCY 

𝑤𝑤𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐
𝑝𝑝 /𝐵𝐵 =

𝑒𝑒
𝑚𝑚𝑝𝑝

=
(1.6 × 10−19)

(1.6666666667 × 10−27)
= 9.6 × 107𝑟𝑟𝑟𝑟𝑟𝑟 𝑠𝑠−1 𝑇𝑇−1 

BOHR MAGNETON 

𝜇𝜇𝐵𝐵 =
𝑒𝑒ℎ

2𝑚𝑚𝑒𝑒
 

𝜇𝜇𝐵𝐵 =
(1.6 × 10−19) × (6.6666666667 × 10−22)

2 × (8.888888889 × 10−31)
= 6 × 10−11𝑀𝑀𝑀𝑀𝑀𝑀 𝑇𝑇−1 

NUCLEAR MAGNETON 

𝜇𝜇𝑁𝑁 =
𝑒𝑒ℎ

2𝑚𝑚𝑝𝑝
 

𝜇𝜇𝑁𝑁 =
(1.6 × 10−19) × (6.6666666667 × 10−22)

2 × (1.6666666667 × 10−27)
= 3.2 × 10−14𝑀𝑀𝑀𝑀𝑀𝑀 𝑇𝑇−1 

The first two digits of the faraday constant is 9 and 6, from the value 
pattern, we can complete its accurate value as = 96000 

AVOGADRO CONSTANT 

𝑁𝑁𝐴𝐴 =
𝐹𝐹
𝑒𝑒

 

𝑁𝑁𝐴𝐴 =
96000

(1.6 × 10−19)
= 6 × 1023𝑚𝑚𝑚𝑚𝑚𝑚−1 

BOLTZMANN CONSTANT 

𝑘𝑘 =
𝑅𝑅
𝑁𝑁𝐴𝐴

 

𝑘𝑘 =
8

(6 × 1023)
= 1.3333333333 × 10−23𝐽𝐽.𝐾𝐾−1 

The gas constant as [8] 

STEFAN-BOLTZMANN CONSTANT 
𝑘𝑘24𝜋𝜋𝜋𝜋
𝑆𝑆ℎ2  

(1.3333333333 × 10−23)2 × 4 × (3.125) × (1.6 × 10−19)
(1.50 × 1010) × (6.6666666667 × 10−34)2  

= 5.3333333333 × 10−8𝑊𝑊.𝑚𝑚−2.𝐾𝐾−4 

3.3. Using Pi Codes 

We can tell a blind man that there’s an obstacle coming in 
front and he’ll believe, he’s blind and has no choice than to 
believe. Information that pi is an irrational value is all over 
the internet, in mathematics and physics. Also, they also say 
its digits are never ending and the rest of the false stories. If a 
mathematician or scientist creates a value that doesn’t have 
any relation with the universe or its components (e.g. Euler 
number) and say it’s irrational and its digits are never ending, 
then I could believe but not the pi value which is a very 
important value in the universe. Whoever started the false 
information about pi was simply operating blindly and the 
blindness was even contagious that scientists and people 
became blind also, this is what happens when one doesn’t 
know the root of physics and the blueprint of the universe. 
With the role of pi in the universe, it can never be an 
unending and irrational value, if it is, then we wouldn’t have 
a universe.  

Again, to reveal the truth behind the value, [7]. Pi value, 
3.125 (25

8
) is like a cheat code in video games, but for the 

universe in this description. It has a secret nickname called 
“The assist value”, essential in creation of the universe, 
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function as everything about the word “assist”- [to ease]. 
Some scientists and mathematicians used pi to create their 
formula but didn’t know the secret behind the numbers 
attached to pi in their resulting formula.  

4. Pi Math – Pi Codes 
Pi codes are numbers attached to pi in a formula. Not  

all numbers are pi codes, there’s a hidden secret in the 
blueprint which I’ll reveal. This leads to the introduction of 
pi math to the world.  

The value 3.125 is not just what you think. There are four 
digits in 3.125, arranged accordingly as 1, 2, 3 and 5. There 
are four features of a pi code; 

1.)  1 for all, either 2, 3 or 5 or a combination of either of 
them must be able to divide a pi code to result to 
another pi code. 

2.)  A pi code must end in 1 when doing continuous 
division with 2, 3 and 5 or a combination of either of 
them (2, 3, 5). 

3.)  1 for all, a pi code is a product of continuous division 
with 2, 3 or 5 or a combination of either of them (2, 3, 
5). 

4.)  1 for all, a pi code is a product of continuous 
multiplication with 2, 3 or 5 or a combination of 
either of them (2, 3, 5). 

4.1. Test for Feature 4 

Starting with feature 4 because it’s a way of producing a pi 
code for someone that doesn’t know. 

Feature 4 says; a pi code is the product of continuous 
multiplication with 2, 3 or 5 or a combination of either of 
them (2, 3, 5). 

In simple terms. 1 for all, we have 2, 3 and 5. If I am a pi 
code, you can only use 2, 3 or 5 or a combination to get to 
me. 

Continuous multiplication means; 
2 × 2 × 2 × 2 × 2 × 2 × 2 × 2 … … . .𝑎𝑎𝑎𝑎𝑎𝑎 𝑠𝑠𝑠𝑠 𝑜𝑜𝑜𝑜 
3 × 3 × 3 × 3 × 3 × 3 × 3 × 3 … … . .𝑎𝑎𝑎𝑎𝑎𝑎 𝑠𝑠𝑠𝑠 𝑜𝑜𝑜𝑜 
5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 … … . .𝑎𝑎𝑎𝑎𝑎𝑎 𝑠𝑠𝑠𝑠 𝑜𝑜𝑜𝑜 

Also, combination of (2, 3 and 5). 
We can say; 

2 × 3 × 5 … … … … … … … … … … … … … … … … .. 
2 × 2 × 2 × 3 × 3 × 2 × 5 × 2 … … … … … … …. 
5 × 5 × 3 × 2 × 5 … … … … … … … … … … … … … 
2 × 2 × 2 × 2 × 2 × 5 … … … … … … … … … … … 

Whichever way one can start and continue the 
multiplication but it must be with (2, 3 and 5). This produces 
pi codes as the sequence continues. 

So, if it’s; 
2 × 2 × 2 × 3 × 5 = [120] 

The result is a pi code [120] 
2 × 2 × 2 × 2 × 2 × 2 × 2 × 3 × 3 × 3 × 3 = [10368] 

Gradually, 
2 × 2 = [4] × 2 = [8] × 2 = [16] × 2 = [32] × 2

= [64] × 2 = [128] × 2 = [256] 

5 × 2 = [10] × 2 = [20] × 2 = [40] × 2 = [80] × 2
= [160] × 2 = [320] 

3 × 3 = [9] × 3 = [27] × 5 = [135] × 5 = [675] × 5
= [3375] 

3 × 3 = [9] × 3 = [27] × 3 = [81] × 2 = [162] × 3
= [486] 

2 × 2 = [4] × 2 = [8] × 2 = [16] × 3 = [48] × 2
= [96] 

2 × 3 = [6] × 2 = [12] × 3 = [36] × 3 = [108] 
2 × 2 = [4] × 2 = [8] × 3 = [24] × 5 = [120] 
5 × 5 = [25] × 5 = [125] × 2 = [250] 
2 × 3 = [6] × 2 = [12] × 2 = [24] 
3 × 2 = [6] × 5 = [30] 
5 × 3 = [15] 
Pi codes are produced as the sequence continues. Any 

continuous multiplication done with (2, 3, and 5 or a 
combination) produces a pi code, this is the primary way of 
producing a pi code. 

Note: The meaning of “1 for all” is; 1 multiplies a number 
to give the same number, if 1 multiplies a pi code, it results to 
the same pi code. 

4.2. Test for feature 2 and 3 

Feature 2 and 3 are under the same roof. 
Feature 2 says; A pi code must end in 1 when doing 

continuous division with 2, 3 and 5 or a combination of 
either of them (2, 3, 5). 

Feature 3 says; A pi code is product of continuous 
division with 2, 3 or 5 or a combination of either of them (2, 
3, 5). 

In simple terms, if I am a bigger pi code, you can break 
me down using 2, 3, 5 or a combination to produce smaller 
pi codes, and I must end in 1 (Reverse production). 

Test; 
2 10368 

2 5184 

2 2592 

2 1296 

2 648 

2 324 

2 162 

3 81 

3 27 

3 9 

3 3 

 1 
 

The products of the continuous division above are pi codes 
(10368, 5184. 2592, 1296, 648, 324, 162, 81, 27, 9, 3, 1) 
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2 6144 

2 3072 

2 1536 

2 768 

2 384 

2 192 

2 96 

2 48 

2 24 

2 12 

2 6 

3 3 

 1 

 
3 3456 

3 1152 

3 384 

2 128 

2 64 

2 32 

2 16 

2 8 

2 4 

2 2 

 1 

 
3 3375 

3 1125 

3 375 

5 125 

5 25 

5 5 

 1 

 
3 2304 

3 768 

2 256 

2 128 

2 64 

2 32 

2 16 

2 8 

2 4 

2 2 

 1 

 
3 1536 

2 512 

2 256 

2 128 

2 64 

2 32 

2 16 

2 8 

2 4 

2 2 

 1 

 
2 864 

2 432 

2 216 

2 108 

2 54 

3 27 

3 9 

3 3 

 1 

 
5 675 

5 135 

3 27 

3 9 

3 3 

 1 

 
3 486 

3 162 

3 54 

3 18 

3 6 

2 2 

 1 

 
3 45 

3 15 

5 5 

 1 

 
2 10 

5 5 

 1 

 
Keep testing as the reader. 

4.3. Test for Feature 1 

Feature 1 says; 1 for all, either 2, 3 or 5 must be able to 
divide a pi code to result to another pi code. As the reader, 
you can keep testing but I can only test a few. 
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Only 2: 
[8]
2

= [4] 

Only 3: 
[9]
3

= [3] 

Only 5: 
25
5

= [5] 

Combination of 2 and 3: 
54
2

= [27],
54
3

= [18] 
72
2

= [36],
72
3

= [24]  

Combination of 2 and 5: 
50
2

= [25],
50
5

= [10] 

Combination of 3 and 5: 
675

3
= [225],

675
5

= [135] 

The pi codes can be tested for this feature. This feature 
simply means in simple terms; “If I am a pi code, it’s either 
2 can divide me to produce another pi code or 3 can divide 
me to produce another pi code or 5 can divide me to 
produce another pi code or both 2 and 3 can divide me or 
both 2 and 5 can divide me or both 3 and 5 can divide me, 
all to produce another pi code. 

4.4. Not a pi Code 

To know a number that is not a pi code, subject that 
number to continuous division using 2, 3 or 5 or a 
combination and see if it’s possible leading to 1, if it 
doesn’t lead to 1, it is not a pi code. 

For example; 92 

2 92 

2 46 

 23 

This is where it ends, 2 can’t divide further, 3 can’t and 5 
can’t also. Therefore, 92 is not a pi code. 

Again, 39; 

3 39 

 13 

This is where it ends, 3 can’t divide further, 2 can’t and 5 
can’t also. Therefore, 39 is not a pi code. 

With the four features, only few numbers are the chosen 
ones as a pi code. 

From 1 – 100, here are the pi codes; 
 

PI CODES (LESS THAN 100) 

1,2,3,4,5,6,8,9,10,12,15,16,18,20,24,25,27,30,32,36,40,45,48,50,54
,60,64,72,75,80,81,90,96,100 

+ 

PI CODES (100 -200) 

100, 108, 120, 125, 128, 135, 144, 150, 160, 162, 180, 192, 200 

 
PI CODES (200 - 300) 

200, 216, 225, 240, 243, 250, 256, 270, 288, 300 

 
PI CODES (300 - 400) 

300, 320, 324, 360, 375, 384, 400 

 
PI CODES (400 - 500) 

400, 405, 432, 450, 480, 486, 500 

 
PI CODES (500 - 1000) 

500, 512, 540, 576, 600, 625, 640, 648, 675, 720, 729, 750, 768, 
800, 810, 864, 900, 960, 1000 

 
As the reader, you can continue to discover more but the 

bottom line is; the blueprint of the universe is scripted in pi 
codes. 

There are formulas in physics and mathematics that 
contains a pi code, to list a few; 

Table 4 

FORMULA DESCRIPTION PI CODE 
4
3
𝜋𝜋3 Volume of a sphere 4 

2𝜋𝜋𝜋𝜋 Circumference of a circle 2 

𝜋𝜋𝑟𝑟2 Area of a circle 1 

4𝜋𝜋𝑟𝑟2 Area enclosed by an ellipse 4 

3𝜋𝜋𝑟𝑟2 Total area of a hemisphere 3 

4𝜋𝜋𝑟𝑟2 Surface area of a sphere 4 

2𝜋𝜋𝑟𝑟2𝑟𝑟3 Surface volume of a 3-sphere 2 

∆𝑥𝑥∆𝑝𝑝 =≥
ℎ

4𝜋𝜋
 

Heisenberg uncertainty 
principle 4 

𝑅𝑅𝜇𝜇𝜇𝜇 −
1
2
𝑔𝑔𝜇𝜇𝜇𝜇𝑅𝑅

+ ∆𝑔𝑔𝜇𝜇𝜇𝜇 =
8𝜋𝜋𝜋𝜋
𝑐𝑐4 𝑇𝑇𝜇𝜇𝜇𝜇  

General Relativity field 
equation 8 

𝑅𝑅3

𝑇𝑇2 =
𝐺𝐺𝐺𝐺
4𝜋𝜋2 Kepler’s third law 4 

Λ =
8𝜋𝜋𝜋𝜋
3𝑐𝑐2 𝜌𝜌 Cosmological constant 8 

I didn’t create these formulas, it’s all coincidental, and 
it’s obvious that the scientists/mathematicians behind these 
formulas didn’t know what pi or pi code actually is. Perhaps, 
they formed their formulas from calculation / experiment / 
observation and somehow it’ll have a missing value which 
will require them to turn to pi for help and produce the 
exact pi code they need. They can easily put 2π or 4π and 
the rest, just to complete their formula but little did they 
know what they were actually dealing with. 

The Ultimate Physics Equation is the blueprint, therefore 
we have to use UPE equations to reveal the physical 
constants using pi codes. 

The UPE equations are; 
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UPE Equation 1; 
𝑆𝑆

[𝑃𝑃1 ∙ 𝑃𝑃2 ∙ 𝑃𝑃3 ∙ 𝑃𝑃4 … … … .𝑃𝑃𝑛𝑛 ]
= 𝑃𝑃𝑥𝑥  

UPE Equation 2; 
𝑆𝑆 ∙ [𝑃𝑃1 ∙  𝑃𝑃2 ∙  𝑃𝑃3 ∙ 𝑃𝑃4 … … … . .𝑃𝑃𝑛𝑛 ] =  𝑃𝑃𝑥𝑥  

UPE Equation 3; 
𝑃𝑃1 ∙ 𝑃𝑃2 ∙ 𝑃𝑃3 ∙ 𝑃𝑃4 … … … .𝑃𝑃𝑛𝑛

𝑆𝑆
=  𝑃𝑃𝑥𝑥  

I already revealed how to use the UPE equations in [7]. 
p1, p2, p3, p4 are the entries, px is the result, S is the 
space-time parameter. So, insert entries to get a result. 

𝟏𝟏.𝟓𝟓 × 𝟏𝟏𝟏𝟏𝟏𝟏𝟏𝟏

[𝟓𝟓𝟓𝟓] × 𝟑𝟑.𝟏𝟏𝟏𝟏𝟏𝟏 × (𝟏𝟏𝟏𝟏𝟏𝟏𝟏𝟏) 

= 𝟖𝟖.𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖 × 𝟏𝟏𝟏𝟏−𝟏𝟏𝟏𝟏 

ENTRIES 

[54] – pi code 

3.125 – pi 

(1019) – navigator 

𝑆𝑆
54𝜋𝜋 × 1019 = 𝜀𝜀0 

The above is the entry style used for this method. While 
the pi code is responsible for conversion to another physical 
constant, the navigator is there to switch between value 
pattern similarities according the blueprint i.e. navigating 
from one part of the blueprint to another. An example of an 
already known formula in physics that has a navigator and a 
pi code is; 

𝜇𝜇0

4𝜋𝜋 × 10−7 = 1 

10-7 is the navigator, 4 is the pi code. With the above 
style, the physical constants as results from the UPE using 
pi codes are; 

 
 

 

Table 5 

SPACE-TIME PARAMETER – Pi CODES FOR PHYSICAL CONSTANTS 
1.5 × 1010

[2] × 3.125 × (10−5)
= 2.4 × 1014 

1.5 × 1010

[3] × 3.125 × (1028)
= 1.6 × 10−19 

CHARGE/QUANTUM RATIO ELEMENTARY CHARGE 
1.5 × 1010

[6] × 3.125 × (108)
= 8 

1.5 × 1010

[8] × 3.125 × (10−15)
= 6 × 1023 

GAS CONSTANT AVOGADRO CONSTANT 
1.5 × 1010

[8] × 3.125 × (1019)
= 6 × 10−11  

1.5 × 1010

[9] × 3.125 × (1016)
 = 5.3333333333 × 10−8 

BOHR MAGNETON STEFAN-BOLTZMANN CONSTANT 
1.5 × 1010

[9] × 3.125 × (1015)
 = 5.3333333333 × 10−7 

1.5 × 1010

[10] × 3.125 × (10−6)
= 4.8 × 1014  

ELECTRON MOLAR MASS JOSEPHSON CONSTANT 
1.5 × 1010

[12] × 3.125 × (1018)
= 4 × 10−10 

1.5 × 1010

[12] × 3.125 × (1021)
= 4 × 10−13 

MOLAR PLANCK CONSTANT COMPTON WAVELENGTH 
1.5 × 1010

[15] × 3.125 × (1022)
= 3.2 × 10−14  

1.5 × 1010

[16] × 3.125 × (100)
= 3 × 108 

NUCLEAR MAGNETON SPEED OF LIGHT 
1.5 × 1010

[27] × 3.125 × (1038)
 = 1.7777777778 × 10−30  

1.5 × 1010

[27] × 3.125 × (1036)
 = 1.7777777778 × 10−28 

CONVERSION CONSTANT MUON MASS 
1.5 × 1010

[27] × 3.125 × (1044)
 = 1.7777777778 × 10−36  

1.5 × 1010

[32] × 3.125 × (1010)
= 0.0015 

ELECTRON NEUTRINO MASS 2ND RADIATION CONSTANT 
1.5 × 1010

[36] × 3.125 × (1031)
 = 1.3333333333 × 10−23  

1.5 × 1010

[45] × 3.125 × (1042)
 = 1.0666666667 × 10−34 

BOLTZMANN CONSTANT REDUCED PLANCK CONSTANT 
1.5 × 1010

[48] × 3.125 × (106)
= 100 

1.5 × 1010

[48] × 3.125 × (1014)
=  1 × 10−6 

UNIVERSE VALUE ELECTRON NEUTRINO MASS 
1.5 × 1010

[50] × 3.125 × (100)
= 9.6 × 107 

1.5 × 1010

[50] × 3.125 × (103)
= 96000 
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PROTON-CYCLOTRON FREQUENCY FARADAY CONSTANT 
1.5 × 1010

[54] × 3.125 × (1019)
 = 8.8888888889 × 10−12 

1.5 × 1010

[54] × 3.125 × (1038)
 = 8.8888888889 × 10−31 

ELECTRIC CONSTANT ELECTRON MASS 

1.5 × 1010

[54] × 3.125 × (1037) 

= 8.8888888889 × 10−30 

1.5 × 1010

[54] × 3.125 × (1034)
 = 8.8888888889 × 10−27 

BOTTOM QUARK MASS 
1.5 × 1010

[72] × 3.125 × (1018)
 = 6.6666666667 × 10−11 

DOWN QUARK MASS GRAVITATIONAL CONSTANT 
1.5 × 1010

[72] × 3.125 × (1023)
 = 6.6666666667 × 10−16  

1.5 × 1010

[72] × 3.125 × (1041)
 = 6.6666666667 × 10−34 

PLANCK CONSTANT (eV.s) PLANCK CONSTANT (J.s) 
1.5 × 1010

[72] × 3.125 × (1029)
 = 6.6666666667 × 10−22 

1.5 × 1010

[96] × 3.125 × (106)
= 50 

PLANCK CONSTANT (MeV.s) DARK MATTER MASS 
1.5 × 1010

[96] × 3.125 × (108)
= 0.5 

1.5 × 1010

[96] × 3.125 × (107)
= 5 

ELECTRON MASS DOWN QUARK MASS 
1.5 × 1010

[96] × 3.125 × (104)
= 5000 

1.5 × 1010 × 3.125 × [96] × (106) 
= 4.5 × 1018  

BOTTOM QUARK MASS DARK ENERGY DEFAULT 

1.5 × 1010 × 3.125 × [96] × (104) 
= 4.5 × 1016  

1.5 × 1010

[128] × 3.125 × (105)
= 375 

ENERGY DEFAULT IMPEDANCE OF VACUUM 
1.5 × 1010

[128] × 3.125 × (1011)
= 3.75 × 10−4 

1.5 × 1010

[128] × 3.125 × (1023)
= 3.75 × 10−16 

QUANTUM OF CIRCULATION 1ST RADIATION CONSTANT 

135 × (10−6)
1.5 × 1010 × 3.125

= 2.88 × 10−15 
1.5 × 1010

[144] × 3.125 × (1016)
 = 3.3333333333 × 10−9 

ELECTRON RADIUS UNIVERSE FIELD VALUE 
1.5 × 1010

[144] × 3.125 × (1037)
 = 3.3333333333 × 10−30 

1.5 × 1010

[144] × 3.125 × (1032)
 = 3.3333333333 × 10−25 

UP QUARK MASS TOP QUARK MASS 
1.5 × 1010

[144] × 3.125 × (1034)
 = 3.3333333333 × 10−27 

1.5 × 1010

[144] × 3.125 × (1038)
 = 3.3333333333 × 10−31 

TAU MASS MUON NEUTRINO MASS 
1.5 × 1010

[144] × 3.125 × (1036)
 = 3.3333333333 × 10−29 

1.5 × 1010 × 3.125 × [192] × (10−3) 
= 9 × 109 

TAU NEUTRINO MASS COULOMB CONSTANT 
1.5 × 1010

[216] × 3.125 × (1034)
 = 2.2222222222 × 10−27 

1.5 × 1010

[216] × 3.125 × (1032)
 = 2.2222222222 × 10−25 

CHARM QUARK MASS HIGGS BOSON MASS 
1.5 × 1010

[256] × 3.125 × (107)
= 1.875 

1.5 × 1010

[256] × 3.125 × (102)
= 187500 

UP QUARK MASS TOP QUARK MASS 
1.5 × 1010

[256] × 3.125 × (104)
= 1875 

1.5 × 1010

[256] × 3.125 × (108)
= 0.1875 

TAU MASS MUON NEUTRINO MASS 
1.5 × 1010

[256] × 3.125 × (106)
= 18.75 

1.5 × 1010

[288] × 3.125 × (1035)
 = 1.6666666667 × 10−28 

TAU NEUTRINO MASS STRANGE QUARK MASS 
1.5 × 1010

[288] × 3.125 × (1034)
 = 1.6666666667 × 10−27 

1.5 × 1010

[288] × 3.125 × (1032)
 = 1.6666666667 × 10−25 
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PROTON/NEUTRON MASS W/Z BOSON MASS 
1.5 × 1010

[384] × 3.125 × (1013)
= 12.5 × 10−7 

1.5 × 1010

[384] × 3.125 × (1013)
= 1.25 × 10−6 

MAGNETIC CONSTANT WAVELENGTH OF 1eV/c PARTICLE 
1.5 × 1010

[384] × 3.125 × (104)
= 1250 

1.5 × 1010

[384] × 3.125 × (102)
= 125000 

CHARM QUARK MASS HIGGS BOSON MASS 
1.5 × 1010 × 3.125 × [384] × (10−2) 

= 1.8 × 1011  
135 × (10−6)

1.5 × 1010 × 3.125
= 2.88 × 10−15 

ELECTRON-CYCLOTRON FREQUENCY ELECTRON RADIUS 

[486] × (1015)
1.5 × 1010 × 3.125

= 10368000 
1.5 × 1010

[512] × 3.125 × (105)
= 93.75 

RYDBERG CONSTANT STRANGE QUARK MASS 
1.5 × 1010

[512] × 3.125 × (104)
= 937.5 

1.5 × 1010

[512] × 3.125 × (104)
= 937.5 PROTON/NEUTRON MASS 

1.5 × 1010

[512] × 3.125 × (102)
= 93750 

W/Z BOSON MASS NEUTRON MASS 
1.5 × 1010

[864] × 3.125 × (1017)
 = 5.55555555556 × 10−11 

1.5 × 1010

[1152] × 3.125 × (1021)
 = 4.1666666667 × 10−15 

BOHR RADIUS QUANTUM/CHARGE RATIO 

1.5 × 1010 × 3.125 × [1536] × (10−16) 
= 0.0072 

1.5 × 1010

[2304] × 3.125 × (1021)
 = 2.0833333333 × 10−15 

FINE STRUCTURE CONSTANT MAGNETIC FLUX QUANTUM 

[3375] × (105)
1.5 × 1010 × 3.125

= 0.0072 
1.5 × 1010 × 3.125 × [6144] × (10−29) 

= 2.88 × 10−15 

FINE STRUCTURE CONSTANT ELECTRON RADIUS 

Table 6 

ELECTRIC CONSTANT – Pi CODES FOR PHYSICAL CONSTANTS 
8.8888888889 × 10−12 × 3.125 × [2] × (100) 

=  5.55555555556 × 10−11 
[2] × (10−13)

8.8888888889 × 10−12 × 3.125
= 0.0072 

BOHR RADIUS FINE STRUCTURE CONSTANT 

8.8888888889 × 10−12 × 3.125 × [6] × (10−17) 
=  1.6666666667 × 10−27 

8.8888888889 × 10−12 × 3.125 × [6] × (10−15) 
=  1.6666666667 × 10−25 

PROTON/NEUTRON MASS W/Z BOSON MASS 
8.8888888889 × 10−12 × 3.125 × [6] × (10−18) 

=  1.6666666667 × 10−28 
[8] × (10−26)

8.8888888889 × 10−12 × 3.125
=  2.88 × 10−15 

STRANGE QUARK MASS ELECTRON RADIUS 
8.8888888889 × 10−12 × 3.125 × [12] × (101) 

=  3.3333333333 × 10−9 
8.8888888889 × 10−12 × 3.125 × [12] × (10−20) 

=  3.3333333333 × 10−30 

UNIVERSE FIELD VALUE UP QUARK MASS 

8.8888888889 × 10−12 × 3.125 × [12] × (10−15) 
=  3.3333333333 × 10−25 

8.8888888889 × 10−12 × 3.125 × [12] × (10−17) 
=  3.3333333333 × 10−27 

TOP QUARK MASS TAU MASS 
8.8888888889 × 10−12 × 3.125 × [12] × (10−21) 

=  3.3333333333 × 10−31 
8.8888888889 × 10−12 × 3.125 × [12] × (10−19) 

=  3.3333333333 × 10−29 

MUON NEUTRINO MASS TAU NEUTRINO MASS 

8.8888888889 × 10−12 × 3.125 × [15] × (10−5) 
=  4.1666666667 × 10−15 

8.8888888889 × 10−12 × 3.125 × [18] × (1011) 
=  50 

QUANTUM/CHARGE RATIO DARK MATTER MASS 
8.8888888889 × 10−12 × 3.125 × [18] × (109) 

=  0.5 
8.8888888889 × 10−12 × 3.125 × [18] × (1010) 

=  5 
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MATTER MASS (ELECTRON) DOWN QUARK MASS 
8.8888888889 × 10−12 × 3.125 × [18] × (1013) 

=  5000 
8.8888888889 × 10−12 × 3.125 × [24] × (10−1) 

=  6.6666666667 × 10−11 

BOTTOM QUARK MASS GRAVITATIONAL CONSTANT 
8.8888888889 × 10−12 × 3.125 × [24] × (10−6) 

=  6.6666666667 × 10−16 
8.8888888889 × 10−12 × 3.125 × [24] × (10−24) 

=  6.6666666667 × 10−34 

PLANCK CONSTANT (eV.s) PLANCK CONSTANT (J.s) 
8.8888888889 × 10−12 × 3.125 × [24] × (10−12) 

=  6.6666666667 × 10−22 
8.8888888889 × 10−12 × 3.125 × [36] × (1011) 

=  100 

PLANCK CONSTANT (MeV.s) UNIVERSE FIELD VALUE 

8.8888888889 × 10−12 × 3.125 × [36] × (103) 
=  1 × 10−6 

8.8888888889 × 10−12 × 3.125 × [45] × (103) 
=  1.25 × 10−6 

ELECTRON NEUTRINO MASS WAVELENGTH OF 1eV/s PARTICLE 
8.8888888889 × 10−12 × 3.125 × [45] × (103) 

=  12.5 × 10−7 
8.8888888889 × 10−12 × 3.125 × [45] × (1012) 

=  1250 

MAGNETIC CONSTANT CHARM QUARK MASS 
8.8888888889 × 10−12 × 3.125 × [45] × (1014) 

=  125000 
8.8888888889 × 10−12 × 3.125 × [48] × (10−14) 

=  1.3333333333 × 10−23 

HIGGS BOSON MASS BOLTZMANN CONSTANT 
8.8888888889 × 10−12 × 3.125 × [54] × (1019) 

=  1.5 × 1010  
8.8888888889 × 10−12 × 3.125 × [54] × (107) 

=  0.015 

SPACE-TIME PARAMETER 2ND RADIATION CONSTANT 
8.8888888889 × 10−12 × 3.125 × [64] × (10−21) 

=  1.7777777778 × 10−30 
8.8888888889 × 10−12 × 3.125 × [64] × (10−19) 

=  1.7777777778 × 10−28 

CONVERSION CONSTANT MUON MASS 
8.8888888889 × 10−12 × 3.125 × [64] × (10−27) 

=  1.7777777778 × 10−36 
8.8888888889 × 10−12 × 3.125 × [75] × (10−6) 

=  2.0833333333 × 10−15 

ELECTRON NEUTRINO MASS MAGNETIC FLUX QUANTUM 

8.8888888889 × 10−12 × 3.125 × [108] × (1017) 
=  3 × 108 

8.8888888889 × 10−12

[128] × 3.125 × (1013)
=  2.2222222222 × 10−27 

SPEED OF LIGHT CHARM QUARK MASS 

8.8888888889 × 10−12

[128] × 3.125 × (1011)
 

=  2.2222222222 × 10−25 

8.8888888889 × 10−12 × 3.125 × [135] × (1011) 
=  375 

IMPEDANCE OF VACUUM 

8.8888888889 × 10−12 × 3.125 × [135] × (105) 
=  3.75 × 10−4 

HIGGS BOSON MASS QUANTUM OF CIRCULATION 
8.8888888889 × 10−12 × 3.125 × [135] × (10−7) 

=  3.75 × 10−16 
8.8888888889 × 10−12 × 3.125 × [144] × (10−1) 

=  4 × 10−10 

1ST RADIATION CONSTANT MOLAR PLANCK CONSTANT 
8.8888888889 × 10−12 × 3.125 × [144] × (10−4) 

=  4 × 10−13 
8.8888888889 × 10−12 × 3.125 × [162] × (1027) 

=  4.5 × 1018 

COMPTON WAVELENGTH DARK ENERGY DEFAULT 

8.8888888889 × 10−12 × 3.125 × [162] × (1025) 
=  4.5 × 1016  

8.8888888889 × 10−12 × 3.125 × [192] × (101) 
=  5.3333333333 × 10−8 

STEFAN BOLTZMANN CONSTANT 
8.8888888889 × 10−12 × 3.125 × [192] × (102) 

=  5.3333333333 × 10−7 

ENERGY DEFAULT ELECTRON MOLAR MASS 
8.8888888889 × 10−12 × 3.125 × [216] × (10−2) 

=  6 × 10−11 
8.8888888889 × 10−12 × 3.125 × [216] × (1032) 

=  6 × 1023 

BOHR MAGNETON AVOGADRO CONSTANT 
8.8888888889 × 10−12 × 3.125 × [288] × (109) 

=  8 
[288] × (10−6)

8.8888888889 × 10−12 × 3.125
= 10368000 
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GAS CONSTANT RYDBERG CONSTANT 
8.8888888889 × 10−12 × 3.125 × [324] × (1018) 

=  9 × 109 
8.8888888889 × 10−12 × 3.125 × [384] × (10−26) 

=  1.0666666667 × 10−34 

COULOMB CONSTANT REDUCED PLANCK CONSTANT 
8.8888888889 × 10−12 × 3.125 × [576] × (10−11) 

=  1.6 × 10−19 
8.8888888889 × 10−12 × 3.125 × [648] × (1019) 

=  1.8 × 1011 

ELEMENTARY CHARGE ELECTRON-CYCLOTRON FREQUENCY 
8.8888888889 × 10−12 × 3.125 × [675] × (108) 

=  1.875 
8.8888888889 × 10−12 × 3.125 × [675] × (1013) 

=  187500 

UP QUARK MASS TOP QUARK MASS 
8.8888888889 × 10−12 × 3.125 × [675] × (1011) 

=  1875 
8.8888888889 × 10−12 × 3.125 × [675] × (107) 

=  0.1875 

TAU MASS MUON NEUTRINO MASS 
8.8888888889 × 10−12 × 3.125 × [675] × (109) 

=  18.75 
8.8888888889 × 10−12 × 3.125 × [864] × (1022) 

=  2.4 × 1014 

TAU NEUTRINO MASS CHARGE/QUANTUM RATIO 
8.8888888889 × 10−12 × 3.125 × [1152] × (10−6) 

=  3.2 × 10−14 
8.8888888889 × 10−12 × 3.125 × [1728] × (1022) 

=  4.8 × 1014 

NUCLEAR MAGNETON JOSEPHSON CONSTANT 

8.8888888889 × 10−12 × 3.125 × [2592] × (105) 
=  0.0072 

8.8888888889 × 10−12 × 3.125 × [3375] × (109) 
=  93.75 

FINE STRUCTURE CONSTANT STRANGE QUARK MASS 

8.8888888889 × 10−12 × 3.125 × [3375] × (1010) 
=  937.5 

8.8888888889 × 10−12 × 3.125 × [3375] × (1012) 
=  93750 

W/Z BOSON MASS 
8.8888888889 × 10−12 × 3.125 × [3456] × (1012) 

=  96000 

PROTON/NEUTRON MASS FARADAY CONSTANT 

8.8888888889 × 10−12 × 3.125 × [3456] × (1015) 
=  9.6 × 107 

8.8888888889 × 10−12 × 3.125 × [10368] × (10−8) 
=  2.88 × 10−15 

PROTON CYCLOTRON FREQUENCY ELECTRON RADIUS 

 

Just like the above using the UPE with the space-time 
parameter, each of the physical constants have its own pi 
code relation with every other constant. To reveal, let a 
physical constant imitate space-time in the UPE. Next is for 
the electric constant (Table 6). 

I can’t display all pi code formula relationships between 
each of the physical constants and others, this paper will be 
too long. Perhaps, I can teach the world how to get the 
relationship between a physical constant and another using pi 
code.  

4.5. How to Detect a Pi Code and Navigator 

Inserting entries manually is a method, but there’s an easy 
method called “detection” as follows; 

Step 1: Choose a physical constant as the one in question 
to replace the space-time parameter, choose another as the 
result. 

Example 1: I choose the 1st radiation constant (3.75 x 10-16) 
to replace space-time and the molar planck constant (4 x 
10-10) as the result. 

Step 2: Use the result as the entry alongside pi 

3.75 × 10−16

3.125 × (4 × 10−10)
= 3 × 10−7 

In the above equation, 3 is the pi code, 10-7 is the navigator. 
Therefore, the equation is re-written as; 

3.75 × 10−16

[3] × 3.125 × (10−7)
= 4 × 10−10 

3.75 × 10−16

3𝜋𝜋 × 10−7 = 4 × 10−10 

Note: In some cases, detection may not be possible in 
UPE 1 but will be possible in UPE 2 or UPE 3. More 
examples to describe. 

Example 2: I choose gravitational constant 
(6.6666666667 x 10-11) and the fine structure constant 
(0.0072) as the result. 

6.6666666667 × 10−11

3.125 × 0.0072
= 2.962962963 × 10−9 

In this situation, UPE 1 doesn’t work, there’s no pi code 
to detect there. Let’s proceed to UPE 2. 
6.6666666667 × 10−11 × 3.125 × 0.0072 = 1.5 × 10−12 
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There’s a pi code and navigator here, 15 is the pi code, 
10-13 is the navigator, I hope you understand the shifting of 
the decimal point. 

15 × 10−13

3.125 × 6.6666666667 × 10−11 = 0.0072 

Equation can be written as; 
[15]
𝜋𝜋

×
(10−13)

𝐺𝐺
= 𝛼𝛼 

Sometimes, a pi code can be detected in both UPE 2 and 3. 
Example 3: I choose the speed of light (3 x 108) to replace 

the space-time parameter and the bohr radius (5.5555555556 
x 10-11) as the result. 

Using UPE 1: 
3 × 108

5.5555555556 × 10−11 × 3.125
= 1.728 × 1018 

There’s a pi code and navigator here, 1728 is the pi code, 
1015 is the navigator, I hope you understand the shifting of 
the decimal point. 

Therefore, the equation is re-written as; 
3 × 108

[1728] × 3.125 × (1015)
= 5.5555555556 × 10−11 

3 × 108

1728𝜋𝜋 × 1015 = 5.5555555556 × 10−11 

In all these revealed relationship, the most important is pi 
and the pi code. Without the pi code alongside pi, there’s no 
relationship. 

Again, the value 3.125 is not just what you think. There 
are four digits in 3.125, arranged accordingly as 1, 2, 3 and 
5. There are four features of a pi code; 

1.)  1 for all, either 2, 3 or 5 or a combination of either of 
them must be able to divide a pi code to result to 
another pi code. 

2.)  A pi code must end in 1 when doing continuous 
division with 2, 3 and 5 or a combination of either of 
them (2, 3, 5). 

3.)  1 for all, a pi code is a product of continuous division 
with 2, 3 or 5 or a combination of either of them (2, 3, 
5). 

4.)  1 for all, a pi code is a product of continuous 
multiplication with 2, 3 or 5 or a combination of 
either of them (2, 3, 5). 

Listing all the pi codes used as entries in this paper. 

 
2 3 6 8 9 10 12 15 16 18 24 27 32 36 45 48 50 

 
54 64 72 75 96 108 128 135 144 162 192 216 256 288 324 384 486 

 
512 576 648 675 864 1152 1536 1728 2304 2592 3375 3456 6144 10368 

 

Note: Not all constants in physics are physical constants of the universe, any constant value formed from existing accurate values 
that isn’t uniform and doesn’t follow value pattern similarity in accordance with pi, isn’t a physical constant of the universe.  

Figure 1 
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Just like an android app is created and maybe the 
programming language behind the app creation is JAVA or 
PYTHON. The same way if we were to ask the creator of 
the universe about the key to creation, it’ll say “PI” which is 
the language behind the blueprint of the universe. This 
means that; as the reader, imagine the universe was created 
in 2022 and the creator gave you a blueprint written in pi 
codes and you don’t know the value of pi, you wouldn’t 
understand the blueprint till the universe ends, just like one 
wouldn’t if I didn’t release this paper. Pi is/was the key to 
understand the blueprint. Pi is a person if you would believe 
but its value in physics and mathematics is 3.125. The truth 
like I said in [7], “pi was seriously involved as an assistant 
during the creation of the universe”, this whole theory is the 
proof. Another proof is what you see above as figure 1. 

Figure 1 says it all, the simple statement is; “Why are 
planets/planetary bodies not square, rectangular, triangular 
etc. in shape? Why are they either circular, spherical or any 
shape that involves pi as its area/circumference?” over to 
you. 

5. Summary 
In the blueprint, entities are represented by values which 

are the physical constants, gravity means (6.6666666667 x 
10-11), space-time means (1.5 x 1010), matter means (0.5), 
and so on. 

In the universe, everything is related, the UPE proves it. 
This theory in this paper is novel and proposed by (P.I) - 
Prince Igboejesi (04/07). 

Thank you for reading. 
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